1314-Exam1-Solution.notebook October 04, 2016

2, x S ~ +1 owwm"‘“"w‘r
Do f-> § oA - BT
)~ @) oﬁ}(/\) -4 A A
ath
B « G
A i = T x(xtt) x(xt6)
PR NS (CNEN A
- - ——— x — >+
/E\ 2 %ﬂ\ — 'x(x+&)
= la _—,
O fo- * '
FOak)-g4, B xox- b K s
AROC “ (SO T e L) Gy
- T ]

Oct 4-11:09 AM Oct 4-11:12 AM

U@ (§- dot k¥ oo (l0x _Go0 -0
732}@0(‘{- |ZCO =0

_ 4ot - 164"
5 = 4o (X,;O)(l,go):o

2 _ —
N\t 460t -25 —O @M '@

<-4&+€)@t‘€):o
]
@ Pm%k - (lOO)( -0 qxl) *(6O)<+300)

— _05x"+40 ) — 300
=06 )* +40x — 300 = 300

Oct 4-11:15 AM Oct 4-11:17 AM



